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Using Ratio Language

4a. Pippa has a bag of balloons.

There are 3 blue balloons for every &
green balloons.

She says,

If there was just 1 blue

balloon, there would be
4 balloons in total.

4b. Millie has o bag of sweets.

There are & pink sweets for every 8
orange sweels.

She says,

If there were 3 pink
sweets, there would be
5 sweets in total.

Is she correct? Explain how you know.
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7a. Arlo has some fruit fo the ratio of 1
lemon for every 4 limes and 3 satsumas.

He says,

If I have 12 lemons | will
have 16 limes and 15
satsumas.

Is he correct? Explain how you know.

7b. Chen has some fruit to the rafio of 2
bananas for every 3 grapes and 4 apples.

He says,
. If 1 have 20 bananas |
K3 will have 23 grapes and

24 apples.

Is he correct? Explain how you know.

5a. Jake has a bag of shopping
containing apples and pears.

There are 14 pieces of fruit alfogether.

o)

Wit 3 different sentences which show

5b. Yusuf has a bag of shopping
containing bananas and plums.

There are 20 pieces of fruit alfogether.

o

Write 3 different sentences which show

8a. Evan has some red, blue and yellow
counters.

There are 4 blue counters for every red
counter, and 16 counters altogether.

Write all the possible sentences to show
how many of each counter Euan may
have.

8b. Toby has some red, blue and yellow
counters.

There are 5 blue counters for every 2 red
counters, and 25 counters altogether.

Write all the possible sentences to show
how many of each counter Toby may
have.
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Jaxon thinks that if there was 1 lemon,
there would be 2 shawberries.

Kai thinks that if there was 1 srawberry,
there would be 2 lemons.

Who is correct? Explain how you know.
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Isla thinks that if there were 3 chillies,
there would be 2 tomatoes.

Ivy thinks that if there were 1 fomato,
there would be 2 chillies.

Who is correct? Explain how you know.
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counters altogether.

Alfie thinks that if there were 15 blue
counters, there would be 5 green
counters and 10 red counters.

Ethan thinks that if there were 20 blve
counters, there would be 4 green
counters and & red counters.

Who is correct? Explain how you know.

the possible rafios of the fruil. 'bi possible ratios of the fruit.
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6a. Jaxon and Kai are looking af the &b, Isla and Ivy are looking at the 9a. Alfie and Ethan have some blue, 9b. Jess and Rosie have some blue, green
i between i d i between fomatoes and green and red counters. There are 5 blue | and red counters. There are é blue

lemons. chillies. counters for every green counter and 30 | counters for every 4 green counters and

50 counters alfogether.

Jess thinks that if there were 18 blue
counters, there would be 12 green
counters and 20 red counters.

Rosie thinks that if there were 24 blue
counters, there would be 12 green
counters and 14 red counters.

Who is correct? Explain how you know.
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Please can you read and write your times table from 3,4,5,6,7,8,9,11,12.
Write all the prime numbers up to 20.
Factor numbers of 48, 60, 72, 84, 96.

Canyou see a pattern?



